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Simplify each expression, and eliminate any negative exponent(s).
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3. Find the sum, difference, or product. (Simplify your answer completely.)

Rule
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7. Perform the multiplication or division and simplify.
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8. Perform the addition or subtraction and simplify.
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9. The given equation is either linear or equivalent to a linear equation. Solve the equation.
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10. A pair of points is given. (-7,5),(5,0) @
a. Plot the points in a coordinate plane.
y
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b. Find the distance between them.

B
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c. Find the midpoint of the segment that joins them.
- -1 5
(xy) = ?*5 Em) (-— 5 )7 LC ) %) I

11. Find the x- and y-intercepts of the graph of the equation. (If answer does not exist, enter

DNE.)
5x — 6y =120 X ~inderspt g“‘"wffﬂ
) B x~b(0)=190 5@-@3“30
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(or18) | .ax=0 ¢ Y-intercept | (0O, 90)( 2 «.(;: -;o
(24,0)
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12. Find the slope of the line through P and Q.

P(5,-5),0(8,~1) (5,5 = (v y 90
m= —1-(5) (8,-0 = Oy, ‘j&>
3-95 s B9
> -1 +5 X —X
-5 o

13. Find the equation of the line that satisfies the given conditions.

Through (—1,-2) and (6,5). (A,-D: (%, 8'}
i 5-C2) . %2 = = | (,5) = (%5195 )
T~ et 7 e s =)
Lae M= 6"45“93 2 ()“H‘dt\) Py =X
‘é‘%‘ = (X =% lé-(é‘ :W’W(x")dl)
- = ‘f;.::;(")\ L&s‘,mw-)o
W+s ® U Cxet )

14. Find all real solution of the equation by factoring. (Enter your answer as a comma-
separated list.)

- AT, o —-1O
x2—10x+24=0 WAWQ\:;@‘:ZM%M?

x= L"*;‘”E YLiox +34 = O

(x -)(x=-4) =0
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15. Find all real solutions of the equation. (Enter your answers as a comma-separated list. If
there is no real solution, enter NO REAL SOLUTION.)
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16. Evaluate the product, and write the results in the form a + bi.
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17. Find all real solutions of the equation. (Enter your answers as a comma-separated list.)

x3 = 25x \of g SO

o focko ond sebe BT
\63 b QL‘SX

~FBx -5 x Remermlesr -2)

A9.~(6°: (A*QUCA

\(3._9‘5)< =0
v (x2a8)-o
X (x+3)(x-5)= O
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18. Solve the linear inequality. Express the solution using interval notation.

2-3x>3 Lementaer wien mwﬁplavg
o d.w\dw»s mo\
Graph the solution set. Ny e we ?w»&b
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19. Solve the equation. (Enter your answers as a comma-separated list. If there is no solution,

enter NO SOLUTION.)
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20. Hooke’s Law states that the force needed to keep spring stretched x units beyond its
natural length is directly proportional to x. Here the constant of proportionality is called
the spring constant.

a. Write Hooke’s Law as an equation. (Use & for the constant of propomonallty )
Laook s 3 "the fonce {s directly propefHomel +o X. Yo
LWl e € QAA&)\M
foree = KX o
[ =kx |

b. If the spring has a natural length of 6 cm and a force of 35 N is required to
maintain the spring stretched to a length of 10 cm, find the spring constant.

k=Té?"5\) Foree = 35

Xz Shretched lemgrh — Nohant lergH
(ot vho 2PARy) ( o ¥o 5 prirg)

Xz 10 = (bam
X’qcm

W—}m = kX

Vs K4 o)
T‘ &
K= 25/, = &35 Yem

c. What force is needed to keep the spring stretched to a length of 14 cm?
el X Giror ¢ X 2 Diretched lengehy — roboral lergen
Y= dem = Lewn 2 Bem
Fzky
F=(8.38 “em) (&em)

21. Find the domain of nction. (Enter your answer using interval notation.)
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22. Complete the table.

g(x) = [8x + 7|
* g
3 lgen\ = [13l [gCa> el = |-au+| = |- 1%l = 1}
-2 \etrd\ - (91 | g exl & I=lL+™] = l~al=9
0 \glorer\ =31 l8lar+3) * o3l = [+1 = %
O l&(yey] = 1ge) = 11sl= 19
3 [\gtdet @ TR ICL N F-CIL I EREEY

23. The graph of a function is given. Use the graph to estimate the following.

(6,43)

A
ey 1T

a. All the local maximum and minimum values of the function and the values of x at
which each occurs

Local Maximum: (x,y) = 1 (6,12 )

Local Minimum: (x,y) = K( -%,~l)

Local Minimum: (x,y) = \( 3. 3)

b. The interval on which the function is increasing and on which the function is
decreasing. (Enter your answer using interval notation.)

1 7 \ /’
Increasing;: [—5 , ol L [ 2, w} 1 (‘\’_Q__/__é__l’-—o-———ﬁ
— T ———e -~y o a
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24. A function fis given, and the indicated transformations are applied to its graph (in the
given order). Write the equation for the final transformed graph.

f(x) = x2; stretched vertically by a factor of 2, shift downward 8 units, and shift
9 units to thenght ( Flelr @ +

y_m X = o ~ dowrn

Camendior ma&m«}\m
D
25. Use f(x) = 4x — 5 and g(x) = 2 — x? to evaluate the expression.
a (fegl) = ‘P(%Cx\) P a-®) = A (3-);’\’5
2 g ~4x-5
2D ~Yy? \

b eNW o fw) ~ q(uxs) = o (x -5)?

9~ (dx-5)(4x-5)
3~ (1ux?~20x =20 +25)

g. - l(ﬂx‘i -‘—90” 4.9()! 'as
TlGy? +40% =3
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26. Find the function f whose graph is a parabola with the given vertex and that passes
through the given point.

Vertex: (3,—3); point: (4,2) ke (&Tm\; + K
£(x): o(x-h
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27. Find the quotient and remainder using long division.

x6+4x*-3x2-12
x2+4

Quotient: [Y‘L > ]

Remainder .:_Qj

. X" J—
XA +Ox +,'T!,f”}"‘x“ +0 -3-':‘{2” +0x2 ~3y° 1Ox = 12
.,)%I. xs— XQ
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+3X° + &%
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\ Gf—Dx;*d‘
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-b(x* +0X +4)
-2y? ok —12
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]

A
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28. Find all the zeros of the polynomial. (Enter your answer as a comma-separated list. Enter

all answers including repetitions.)
P(x) = x3 +5x% + 4x + 20

r= =5, A0, -2 \

» 2 L Yy +aO
w N—

Ao A (7 +5)
(i) C X 2+4)

-5 -5 -4 -4
X= -5 %% -
Vi s =4

sed eoc fockr~=0.
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29. Find the intercepts and asymptotes. (If an answer does not exist, enter DNA. Enter your
asymptotes as a comma-separated list of equations if necessary.)

s (x) — (4x-12)

(x-4)(x+1) X \r\'\-wsﬂﬁ'f \a\ nw
e ne—

= O X-int t: ; =@ Hy-1220 Y (=2 = ~_\3- >
Nmerato intercept: (x,y) ! F1 402 (:) 2 (——'——“0 500 (=0 3

P\u@ 'ee,m‘mx@':r* adf  Y-intercept: (x,y) = [(0,5) q% L \-?;
,,,,,, — X 8B

D engranatrn = O Vertical asymptote(s): \(t‘—\) Xz~ verkicad  X-Y=o ) X’;‘ :°‘
'_' X =y ==
3 (\\jM " . al
Bn Gnam 5:? Horizontal asymptote: |\ = O o i rgrnd Hx-1d . Hx /13
T AN lo () Ly f4xex -4
X N M Adre s\
Sketch the graph of the rational function. ?,; 3

State the domain and range. Use a graphing device to confirm your answer.
(Enter your answer using interval notation.)

\vok ok verhcd & Domain: R_oo —|3\)(~(,q) v (4, >
aw*-oﬁes T T T
Range: (wa) coD
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30. Use the elimination method to find all solutions of the system of equations.
{Bx + 5y = 28
6x+ y =11 Bl ol Mhesthad

| IR
) = Want ora ”é‘ e U~
' V'a.,QMM) X o*f‘co. ‘o (.a./»-&a’o

- Loken QWM o~t¢

B0 - 28
(ox * g: \) i€ boc\ woendt Yo concel the XWM)
| B T eold s

+e(Bx+By T 28> 1B +209 = 168
~(lx wyy 211D SN =3y 2 -3

—

A3y * 135
22 23
y =S
3X+5<O:&6
DX +5(5) =98
3r+as 228
-5 -5
DR =D
™ 3
X= |
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